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Ping-Lu Chien and C. C. Cheng: Difference in An-
timalarial Activity between Certain Amino Alcohol Dia-
stereomers.

Page 170. In column 1, structure 1 is incorrectly rep-
resented. The correct structure is
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Steven D. Wyrick, Iris H. Hall, C. Piantadosi, and
Charles R. Fenske: Cycloalkanones. 8. Hypocholes-
terolemic Activity of Long-Chain Ketones Related to
Pentadecanone.

Page 220. In Table I, the formulas for structures 5 and
7 should be reversed: 5 should be C1gH320 and 7, C1gH360.

M. M. Hashem, K. D. Berlin, R. W. Chesnut, and N.
N. Durham: Novel Pyrazolo, Isoxazolo, and Thiazolo
Steroidal Systems and Model Analogs Containing Di-
methoxylaryl (or Dihydroxylaryl) Groups and Derivatives.
Synthesis, Spectral Properties, and Biological Activity.

Page 233. In column 2, last line, “the [1,2-d] isomer”
should read the [1,2-¢] isomer.

Additions and Corrections

Page 234. In column 2, line 1, “experiences a shielding
effect” should read experiences a deshielding effect. In
Scheme IV, the unnumbered structure is missing an R
group at the 2 position.

E. A. Mawdsley, K. D. Berlin, R. W. Chesnut, and
N. N. Durham: Synthesis and Structure—Activity Re-
lationships of Heterocyclic Compounds Containing a
Trimethoxyarene Function.

Page 239. In Scheme I, the side chain in structure 3 is
misplaced; it should be
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Also in Scheme I, the structure in the lower right corner
should be labeled compound 2.

Page 240. In structure 17 the double bonds are in-
correctly positioned; the correct structure should be
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Page 241. In column 2, second paragraph, line 25, “5
(mp 123-127°)” should read 4 (mp 123-127°). In the same
paragraph, line 33, “(32.5% from 5)” should read (32.5%
from 3).

B. Paul and W. Korytnyk: Cysteine Derivatives with
Reactive Groups as Potential Antitumor Agents.

Page 1003. In structure VI the stereochemistry has been
incorrectly represented on two carbon atoms. It should
be
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